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DAY 35 ANSWER KEY 

 
ENGLISH LANGUAGE & LOGICAL REASONING 

 
1. Correct Answer: B 

Explanation: The passage repeatedly explains why low inflation leads to lower nominal GDP, which affects tax 

collections, fiscal deficit calculations, and Budget assumptions. 

2. Correct Answer: C 

Explanation: The writer notes benefits for consumers but problems for fiscal math, offering a nuanced analysis 

rather than praise or criticism. 

3. Correct Answer: B 

Explanation: The passage explicitly states that a revised higher GDP for the previous year reduces the required 

growth rate to meet the new year’s target. 

4. Correct Answer: B 

5. Correct Answer: C 

6. Correct Answer: B 

7. Correct Answer: B 

8. Correct Answer: B 

9. Correct Answer: B 

10. Correct Answer: A 
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Legal Reasoning 

11. (c) Just informing them does not suffice to reasonable measure. Considering the degree of threat an 

appropriate reasonable measure would be marking the areas where land mines are located. Thus, option (c) is 

right.  
 
12. (d) Simran is no longer a visitor because Raj asked her not to come back again thus revoking the permission 

granted. And a visitor is only a person who is invited or permitted. Hence, option (d) is the answer. 
 
13. (d) Raj is only liable to the people he has invited or permitted, those who are his lawful visitors under 

occupier’s liability. All the other options are out of context. Thus, option (d) is the right answer.  
 
14. (d) All the three are correct, Raj took reasonable measures. All the other options are out of context. Therefore, 

option (d) is the most appropriate answer. 
 
15. (d) Remedies can be in the form of awards and injunctions, the person in possession of the land also has the 

obligation and permission can be revoked. Therefore, option (d) is the most appropriate answer. 

16. (d) Goalkeeper will not be liable due to volenti non fit injuria and the rest is not foreseeable. All the other 

options are out of scope. Therefore, option (d) is the most appropriate answer.  

17. (d) Since duty of care is not limited by foreseeability, Roshin now is responsible for all harm resulting from 

her actions. All the other options are out of context. Therefore, option (d) is the most appropriate answer.   

18. (d) There was no injury. Disturbance must be of such unreasonable nature. All the other options are out of 

context. Therefore, option (d) is the most appropriate answer.  

19. (d) He did not give his consent to be hurt due to negligence. All the other options are out of context. Therefore, 

option (d) is the most appropriate answer.  

20. (a) He did not consent to being pulled up to the ring. He was supposed to be a mere spectator. His punch was 

in self-defence to a fight started by Bay Gun and thus Bay consented to any harm coming upon him.  
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General Knowledge 

21. Answer: B 

22. Answer: D 

23. Answer: A 

24. Answer: C 

25. Answer: A 

26. Answer: C 

27. Answer: D 

28. Answer: C 

29. Answer: D 

30. Answer: B 

31. Answer: C 

32. Answer: A 

33. Answer: D 

34. Answer: B 

35. Answer: C 

36. Answer: D 

37. Answer: B 

38. Answer: C 

39. Answer: A 

40. Answer: B 
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Quantitative Technique 

Passage-I 
 

Common Explanation :  
Total student = 4000  
Ratio of boys to girls = 3:2  
No of boys = 4000 x 3/5 =2400  
No of girls = 4000 x 2/5 = 1600   
 

 Gardening  Debate  Extempore  Quiz  Dance  

B  432  744  384  936  480  
G  448  256  256  352  288  
Total   1000    

 

 
41. C  

42. A  

43. B 480 x 100/288 = 166.67%  

44. B 352 x 100/ 4000 = 8.8%  

45. C 744 + 384 = 1128  
 
 

Passage-II 
 
Explanation  
TOTAL PRODUCT --1650  
MOBILE ---1650 x 24% = 396  
PEN DRIVE--- 1650 x 1/6 = 275  
CALCULATORS---1650 x 14 %= 231  
REMAING = 1650 – (396+275+231) =748  
WASHING MACHINE--- (748+50) /2 =399  
TELIVISION – 748 -399= 349  
 
46. A  
47. B( 349 x 100 / 630 = 55%)  
48. D  
49. B  
50. A. NOT DEFECTIVE = 275 x 76% = 209  
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